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1. Discuss the transformation w = z". CO3 | L3
. [08]
2. Use Cauchy’s residue theorem to evaluate the integral
2 CO3 | L3
z WL N
——dz,where C:| Z|=3. 07
§<z—n2<z+2> [07]
3.Find the mean and standard deviation of Binomial distribution.
[07] | CO4 | L3
4. Tn a certain factory turning out razor blades, there is a small chance of 0.002 for a blade
to be defective. The blades are supplied in packets of 10. Use Poisson distribution to [07] | CO4 | L3
calculate the approximate number of packets containing i) no defective ii) one
defective iii) two defective blades, in a consignment of 10,000 packets.
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5.The marks of 1000 students in an examination follow a normal distribution with
mean 70 and standard deviation 5. Find the number of students whose marks will
be (i) less than 65 (ii) between 65 and 70 (iii) more than 75, given ®(1)=.3413.

6.The sales per day in a shop are exponentially distributed with the average sale
amounting to Rs. 100 and net profit 8%. Find the probability that the net profit
exceeds Rs. 30 on two consecutive days.

7. A fair coin is tossed thrice. The random variables X and Y are defined as follows:
X =0 or 1 according as head or tail occurs on the first; Y = Number of heads.
Determine (i) the distribution of X and Y (ii) joint distribution of X and Y.

8.The joint probability distribution for two random variables X and Y is given
below:

Y -2 -1 4 5
X

1 0.1 0.2 0.0 0.3
0.2 0.1 0.1 0.0

Determine (i) marginal distribution of X and Y (i) COV(X,Y) (iii) p(X,Y)
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